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1. foder: A7 SERRY & 3MUR X few atv
geall & 3% dIfST |

75 faenf¥at & g # 12 fqurdt oo
geasly ude aa &, 15 Fad

Gelaiell, 21 shael Mo, 12 IMeR UG Feansdr
gldt, 13 shae gger AT J2ar 2 ggrer &g
wd perne et e awd ¥ |

AR T ol qHg el arel faenfdat #hr
TEAT & ALY 3T ¢

(A) 6 (B) 18

(C) 16 (D) 4

A. (O

B. (D)

C. (B)

D. (A)

Ans. A

Sol.

Number of students who like carrot = 21
+ 12 = 33

Number of students who like cauliflower
=15+2 =17

Required difference= 33 -17 = 16

2.fasr fQureft Faor e Feolt gl Fa &7
(A) 60 (B) 61

(C) 65 (D) 71

A. (B)

B. (C)

C. (D)

D. (A)

Ans. A

Sol.

Number of students who like only one
vegetable = 12 + 15 + 21+13 = 61

3.5camely A& gHE Fer arer faenfdat
gfaerd Far g?

(A) 16 (B) 32

(C) 24 (D) 68

A. (C)

B. (D)

C. (B)

D. (A)

Ans. B

Sol.

Total number of students = 75
Number of students who like cabbage =
12 +12 =24

e
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Number of students who don't like
cabbage = 75 - 24 =51

the percentage of students that do not
like cabbage = 51/75 x 100 = 68%

4.2 HEIIHT &I AUAD 24 § U 3eish el
F AR 52 & | 3T TEIAT3T HT ANTHeT
AT R |

(A) 5(B) 10

(C) 15 (D) 20

A. (B)

B. (A)

C. (O

D. (D)

Ans. A

Sol.

Let the two numbers be x and y

Xy = 24

2xy = 48

x? +y2 =52
(X+y)?=x>+y2+2xy =52 +48 =
100

x+y=10

2ms[u— %]+3!i1[l]+ %]—(:—1&1“213155]

5.
=7?

(A) CosB - sinB (B) sinB — cosB
(C) sinB + cosBb (D) cotB - tanB
A. (A)

B. (B)

C. (D)

D. ()

Ans. A

Sol.

2 cos (8 — g) + 3 sin (8 + g) — (3sinf + 2co0s8)

=2 sin® + 3 cosB - 3sin® - 2 cosb
=cos 6 - sinB

6.d1eMehe, THSIAT F 9RT
TIehEATT gaer o sTg g3 o |

(A) 1947 (B) 1965

(C) 1971 (D) 1999

A. (B)

B. (D)

C. (A)

D. ()

Ans. A

Sol.

* The Tashkent Declaration was a
peace agreement between India and

¥Td NTPC 2019 Aih & 9w



http://www.gradeup.com/
https://xu75j.app.goo.gl/fgMV

www.gradeup.co

Pakistan signed in 1965. (actually
effectively in 1966).

* It was signed between Lal Bahadur
Shahtri, the Prime Minister of India and
Muhammad Ayub Khan, the President of
Pakistan to resolve the war between
India and Pakistan in 1965.

* After signing the agreement, Indian
Prime Minister Lal Bahadur Shastri died
mysteriously in Tashkent.

7.

e Pefaf@a Seery ) it fifee
JAT 39 W IR 927 & 30X TS

P,Q R, damsSax Az § o

Rreor, fafer, ST T2 @er 9= &
SIGETT H HoldeT § a7 I ofTel, =ATell, TG
YT diell ®X & E&E 8, W 4 A |
SET| U AP FI had Th W § AT I§
T & FaAT FRT § |

I. P ATel & &1 T@TAT § a7 a8 sy a1gf
g |

I1. et TR 1 FareT g § |

III. S & ©X &I W[ o a 9rel § o & a%hg |
IV. R T& fRUeTe ¢ |

QU ___ &

(A) géhrer (B) S

(C) sradf (D) et

A. (C)

B. (D)

C. (B)

D. (A)

Ans. C

Sol.

] ’ house

Friends professions il
P Cook Red
Q Banker yellow /white
R Teacher yellow /white
s Lawyer Blue

Q is a banker.
Option C is correct.

e
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8.9%¢ ©X HI FATAT § :
(A)Q
(B) R
(C) s
(D) fuTRa & foFar S Tehar
A. (C)
B. (D)
C. (B)
D. (A)
Ans. B
Sol.
; 5 house
Friends professions cakin
P Cook Red
Q Banker yellow/white
R Teacher yellow /white
S Lawyer Blue

It is not clearly mention who owns the
white house.

Therefore, it can’t be determined.
Hence, the correct answer is option B.

9.5l T T TaTHEY §

(A) S

(B) R

©Q

(D) fuRa =& forar S Fehdr

A. (C)

B. (B)

C. (D)

D. (A)

Ans. D

Sol.

; : house

Friends professions colii
P Cook Red
Q Banker yellow fwhite
R Teacher yellow /white
S Lawyer Blue

Blue house is owned by S.
Option D is correct.
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10.3787-19 329 &9 fhehe 2016 T @A
Fgar Siar?
(A) $TRA (B) Hreiehr

(C) a¥c 31T (D) Sivereer

A. (A)

B. (D)

C. (O

D. (B)

Ans. C

Sol.

* West Indies won the U 19 World
cup Cricket 2016.

* India has won the World Cup four
times, which is the highest amongst all
teams.

* U 19 World cup Cricket 2018 is won
again by India.

* The 2018 Under-19 Cricket World Cup
was held in New Zealand. India and
Australia played in the finals at Mount
Maunganui on Feb 3 2018.

11,0 a&q F1 10% A g W 3,600 T
# =1 I | 98 AT H{ew A fifw afy
B 15% Sl

(A) Rs. 3,600 (B) Rs. 4,000

(C) Rs. 3,800 (D) Rs. 3,400

A. (O)

B. (A)

C. (B)

D. (D)

Ans. D

Sol.

SP = rs. 3600

Discount = 10 %

SP = (100 - 10)% of MRP = (100 - 10)%
of MRP

MRP = 3600 x 100/90 = Rs. 4000

New selling price at 15% discount =
(100-15)% of 4000 = 4000 x 85/100 =
Rs. 3400

12,38 (ICT) &7 faraRd &9 & :
(A) SERAUAT HFIFAhAeT Tehaiielloil
(B) gefarsic shagfeieheret Tehaitelisl

(C) $eT-TT HEGIARAT Cehaitctial

(D) S=hIHAT TS HEFIAheled Cehaiioliail

P
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A. (C)

B. (B)

C. (D)

D. (A)

Ans. C

Sol.

* The extension of ICT is
Information and Communication
technology.

* Information and communications
technology (ICT) is an extensional term
for information technology (IT) that
stresses the role of unified
communications.

* India has been ranked 138t in the
2016 ICT Development Index out of a
total of 175 countries. In 2015 India
scored 135% Position.

13.S T &IA & 50% A7 1 f&aT & qu
& & Safeh T 38T 25% o7 1 foeT &
QR AT g ekt Aol 38 HH

Hr T # gATCT FE |
(A) 2.66 (B) 2.33

(C) 1.33 (D) 1.67

A. (D)

B. (B)

C. (O)

D. (A)

Ans. C

Sol.

Given, work done by S in a day = 50%
and by T in one day = 25%

Then , work done by S + T =75 % = 34
Time taken by S + T to complete the
whole work = 4/3 days = 1.33 days

1439+ 3R 3o Fo fashy =@ R aw
gl

hUd

L. $9Tal & AT S & F#T A Teh-
AT faRd B wg oo a4 |

I1. dfehel $ToTATeT & Fgol Mol Sl ST
IRUTS T 4T |

sy

L. 9Tale & HJST S FT Gl HT Th-HATT
faaRor &7 #F warT A6 R |
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II. JefOAeEN & 98 #T gaud e & foav
HEST ATl ST 3TINT T AT |

Aoty fifaw F #ia ar (@) Ty o v
YA PT cAlfcheh TT @ FTEOT YT ()
g @ :

(A) Fhael sy I a1 LT &

(B) hael fo¥seny I 31TER0T &Il &

(C) I 3R II =T 3reTeR0T Xt &

(D) & @ I & II 3eTeR0T Fel &

A. (C)

B. (D)

C. (A)
D. (B)

Ans. D

Sol.

None of the conclusions follows from the
given statements.

15.97%¢ # HEAA: Hdase g ¢ ¢
(A) Ffcaaa dethe

(B) drefRIs arsee
(C) oI5 HAWISS

(D) 5ieh WSS
A. (D)
B. (B)
C. (A)
D. (C)

Ans. B

Sol.

* Gunpowder is also recognised as
black powder.

* It is @ mixture of Sulphur, Charcoal
and Potassium nitrate. The Potassium
nitrate is oxidiser while Sulphur and
charcoal are fuel.

* It has wide applications in fields of
Mining, Road construction, Fireworks,
Rockets etc.

* Gunpowder was invented in 9th-
century China and spread throughout
most parts of Eurasia by the end of the
13th century

P
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16.9876 - ? + 5431 = 5553
(A) 9754 (B) 9765

(C) 8754 (D) 9854

A. (B)

B. (C)

C. (D)

D. (A)

Ans. D

Sol.

9876 - ? + 5431 = 5553
? = 9876 + 5431 - 5553
? =9754

17.0% a¥&h AT & @ § HoledR deh
T FFIUT ITeT 81T ST .
CEIECIN
(A) 8 (B) 7

(C) 10 (D) 9
A. (D)
B. (B)
C. (A)
D. (C)

Ans. A

Sol.

* An adult's digestive tract is about
30 feet (about 9 meters) long.

* The alimentary canal is the long tube
of organs — including the esophagus,
stomach, and intestines — that runs
from the mouth to the anus.

* The digestive tract is known

as gastrointestinal tract.

18.® Al EEel Teh gl
(A) 3w (B) T

(C) dca (D) fAsremrg
A. (B)
B. (A)
C. (D)
D. (C)

Ans. C

Sol.

* Stainless steel is basically a alloy
with aluminium, Chromium and
Carbon as elements.
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* It is corrosion resistant which also
increases with increase in chromium
content.

* Stainless Steel has wide applications
like in field of Architecture, Locomotion,
Medicine, Energy sector etc.

19.927 T & TAT W Hia-d@F g&ar
Hroaf?
82, 70, 76, 64, 70, 58, ?

(A) 52 (B) 76

(C) 64 (D) 48
A. (B)
B. (D)
C. (A)
D. (C)

Ans. D
Sol.

-12 +6 -12 +6 -12 +6
82 70 76 64 70 58 64

Option D is correct response.

20.t% afad foas g HS-98 o6l &, Th
el $I TP Hohd I Hedl §, “Tg§ oISl
A T &1 g7 87| et 7 HiT §?

(A) 39 =afFd &1 9F

(B) 37 =afea & far

(C) Ta¥ a8

(D) 39 afFad & IdsHex

A. (A)

B. (B)

C. (D)

D. (C)

Ans. D
Sol.

father

person/boy

As he has no sibling that means the boy
in the photo is the person himself.
Option D is correct.

e
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21.979areer $r A FEd Aadr 82
(A) Fhae HRA

(B) IR 33 FHAR
(C) R 3R Tt

(D) #RT 3R @
A. (B)
B. (D)
C. (A)
D. (C)

Ans. A

Sol.

* Bangladesh share border with
both India and Myanmar.

* The Bangladesh—-Myanmar border is
170 miles while Bangladesh and India
share a 4,156 km (2,582 mi)-long
international border.

* It is worlds fifth longest land border,
Bangladesh share border with Assam,
Tripura, Mizoram, Meghalaya and West
Bengal.

22.3F TEI3T T 7. 94 § U9 3% o.
AU F A 3T AUGdP 5TF 78 | gl & &
BIET &A1 AT FHIfAT|

(A) 10 (B) 14

(C) 20 (D) 28
A. (C)
B. (D)
C. (A)
D. (B)

Ans. A

Sol.

Let the two number be 4x and 4y
LCM =4x5x7

Since x and y are coprime numbers
x=5andy=7

smaller number =4 x5 = 20

234H111,9,7,3,5,5,6,4,2, 8

i aa fifav|
(A) 3(B) 4

(©)5(D)6
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A. (A)
B. (B)
C. (C)
D. (D)

Ans. C

Sol.

Mean = (1+9+7+3+5+5+6+4+2+8)/10
=50/10=5

24 T AT i F AT T

SATAT ST § |
(A) faerme aRwe (B) YaX Heel

(C) 3Ta "ot (D) e "ot
A. (C)
B. (D)
C. (A)
D. (B)

Ans. A

Sol.

* Rajya sabha is also known as
Upper House or Council Of States.
* It currently has a maximum
membership of 245 and its maximum
strength can be 252.

* In Rajya Sabha, 12 members are
nominated by President of India from
fields of Art, Social service, Literature
and Science.

* It is a permanent house and can't be
dissolved and every one third members
are elected every two years.

25.37/cqaEAd HERT T YAcIaredd Feh

YUY eree FAST AT 3H YAT ST 37l &

(A) DOGL (B) TSEVO

(C) ENZROB (D) LVREIS
A. (B)
B. (C)
C. (D)
D. (A)

Ans. A

Sol.

After rearranging-
a. GOLD

b.O

c. BRONZE

P

gradeup

d. SILVER
Option A is odd one out.

26.97& AT Fehent '+ &1
3‘]’2&")(’%’, \+l$|- 3_]-2&-\_\ %—l ‘X'W 3_]-2}\_*_1%-
qur - H HI L' gAr25+18-3x7 +

3=7
(A) 25 (B) 21

(C) 19 (D) 40
A. (D)
B. (A)
C. (B)
D. (C)

Ans. A
Sol.

symbol = 3 e +

meaning x = + 1 -

After changing the symbols,

25 - 18 + 3 + 7 x 3 (applying BODMAS)
>25-6+ 21

=46 - 6

= 40

Option A is correct.

27 THART HT FHG "ToTe! =

T g |
(A) HgRTSE (B) fagR

(C) AL w2 (D) IR
A. (C)
B. (B)
C. (D)
D. (A)

Ans. A

Sol.

* Khajuraho group of monuments
are located in Madhya Pradesh.

* Built between 950-1050 AD by the
Chandela Dynasty, these temples depict
various forms like meditation, spiritual
teachings, kinship, wrestling etc.

* It is recognised as UNESCO World
Heritage.
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28. ZarT fAhfAd Weiee ofd
TH I FoT Uolae ¢ [oraal 3663 39
T R Py ffd & Y eart & i
¥ T 3R qgadt Bt g v @
giaeT gere T § |

(A) IETeT (B) ATSHIATRE

(C) w9 (D) g
A. (A)
B. (B)
C. (D)
D. (C)

Ans. A

Sol.

* Project Loon is a search engine
project by Google for providing internet
access to rural and remote areas using
high-altitude helium-filled ballons.

* It aim to develop an aerial wireless
network with upto 4G LTE speeds.

* Project Loon began as a research and
development project by Google X, but
later spun out into a separate company
in July 2018.

29.519Tels &1 AT &
(A) AR (B) Fifgem

(C) #HIIHIT (D) AR
A. (C)
B. (D)
C. (A)
D. (B)

Ans. D

Sol.

* Kohima is the capital of Nagaland.
While Dimapur is the largest city
here.

* Angami, Ao, Chakhesang, Chang,
Kachari, Khiamniungan, Konyak, Kuki,
Lotha, Phom, Pochury, Rengma,
Sangtam etc are major tribes of
Nagaland.

* Nagaland became the 16th state of
India on 1 December 1963. English is
the official language of the state.

e
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30.Teh =gfed 10 @ee # 1 ol & gt a7

FAT & | Thelr. Ui ger & 3T gt 491 872
(A) 1.33 (B) 1.25

(C) 1.67 (D) 6.00
A. (D)
B. (C)
C. (B)
D. (A)

Ans. A

Sol.

Speed = distance (in km)/ time (in hrs)
= 1/(10/60) = 6km/hr

31.CBDA, GFHE, KJLI, ?
(A) NOPM (B) MNOP

(C) PMNO (D) ONPM
A. (C)
B. (A)
C. (B)
D. (D)

Ans. D
Sol.

1st letter : C +4

+4

+4 +4

2nd letter: B

+4 +4

3rd letter : D

& w 2 .

4th letter : A s

Option D is correct.

32.7% AfFd 9cd% a¥ & IRH & 500 I
& YR 10% 9 a¥ Twgefd sare
(@f¥® ¥ & FAfaa) w® ar avt & v s&ar
FAT §| & It & &I IRUFTdT YRR AT
AT |

(A) 1,050 39 (B) 1,150 ¥9

(C) 1,155 39 (D) 1,200 39
A. (B)
B. (C)
C. (D)
D. (A)

Ans. B

Sol.

Amount after 1 year = 500 x 11/10 =
550
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Amount after 2 years = (550 + 500) x
11/10 = 1155

33.9fd a¥ T ARET AT W fohaar wfcrerd

U HTEROT &47T 10 a¥ # ST g1 Sear?
(A) 7% (B) 8%

(C) 9% (D) 10%
A. (C)
B. (B)
C. (A)
D. (D)

Ans. D

Sol.

Let the principal be P

Since the sum will be doubled in 10
years

SIin 10 years = P

PRT/100 = P

Rx 10 = 100

R=10 %

34.3.6, 6.9 Td 11.4 &1 Iqd FAGIT AT
T |
(A) 20.3 (B) 18.9

(C) 19.6 (D) 21.9
A. (D)
B. (A)
C. (B)
D. (C)

Ans. A

Sol.

Let the fourth proportional is x
3.6 114

6.9 X

x = 21.85

assuming the nearest possible answer
the answer is option d

35.9f¢ e A $r ofFers (L T) 3R 3
e (B W) 25% @1 & ST, & T
JAT AT ATIT & &TBall T e AT
FfaT |

s 248
(A) 2 FF I (B) ¢ g I

e
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o8 16.B
(C) 18 mrad (D) ¢ o ¥
A. (B)
B. (A)
C. (C)
D. (D)

Ans. C

Sol.

Original area = L x B = LB cm?

New length = L + L/4 = 5L/4 cm

New breadth = B + B/4 = 5B/4 cm

New area = (5L/4) x (5B/4) = (25/16)LB
cm?

Difference between new area and
original area = (25/16)LB - LB = (9/16)
LB cm?

36. %X X AT Y U & AT W T gr faar
# AT 12 TRt /aer aur 16 st /ger &1
aifd & =ell | 3 e a1g 3o ot & gt
AT FIfST |

(A) 200 #FHex (B) 150 Aex

(C) 180 #iex (D) 120 #Hrex
A. (D)
B. (C)
C. (B)
D. (A)

Ans. D

Sol.

Car X travels in 3 minutes
X 3x60=600m

Car Y travels in 3 minutes
Xx3x 60 =800m
Distance between car X and car Y = 800
- 600 =200m

12 x (5/18)

16 x (5/18)

37.18y ardr eI B FIE Ageaqul
fawar &1 Ar?
(A) a&q fafaea gomelr

(B) TUT IRagsT 9oTrelr
(C) 3¢ & s« 319

(D) Temafes JoTTelr
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A. (D)
B. (A)
C. (B)
D. (C)

Ans. D

Sol.

* The Indus Valley Civilization was
an ancient civilization located in
today’s Pakistan and northwest
India. It existed 3000-2000 bc.

* Mohenjodaro, Harappa, Lothal,
Chandhundro etc are major sites of
Indus Valley Civilization.

* Main characteristics of this civilization
are- Brick build buildings, proper
drainage system, grid pattern
architecture, division of lower and upper
areas, great baths etc.

38.'In : out’ & fA9ld oA, i oF oo
q Ioi-
(A) f&sT : T (B) T : AR

(C) 2w : 37RT (D) TG : el
A. (C)
B. (B)
C. (D)
D. (A)

Ans. B

Sol.

In and out are the pairs of opposite
words, the only pair which is not
following that rule is (Sun: star).

39.'qQ" (Euro) feharehr #aT 872
(A) 3T foeaT (B) s

(C) R ST (D) SeTardh
A. (C)
B. (D)
C. (A)
D. (B)

Ans. A

Sol.

* Euro is currency of Euro Zone
which is popularly known as
European Union which consists of 28
European countries.

P
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* After USA Dollar, it is the second-
largest and second-most traded currency
in the foreign exchange market.

* The euro is managed and administered
by the Frankfurt-based European Central
Bank (ECB) and the Eurosystem.

40.E, P &I o1 § ST K &7 Teholldll qaae] o
gfd §| E fFa 9oR K & Fefaa g?
(A) 94T (B) dsstex

(C) dzHEX (D) AT
A. (D)
B. (A)
C. (C)
D. (B)

Ans. D
Sol.

E is the granddaughter of K.
Hence, option D is correct.

41.FHFONT : Ufaerdes ;
GG
(A) Ta9rd (B) =T

(C) 3myfareh (D) stfasg
A. (B)
B. (C)
C. (D)
D. (A)

Ans. B

Sol.

Just like contemporary is related to
historic, modern is related to ancient.
Option B is correct.

42 farfaf@d # AR gy oA &
TAH FIA & T FSAT
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(A) Pedie : g1y (B) &ellg : dlh

(C) g¥e : TAHel (D) 3T : FoT
A. (C)
B. (B)
C. (A)
D. (D)

Ans. A

Sol.

Bow is used to shoot arrows.

Similarly, Rifle is used to shoot bullets.
Option A is correct.

A3 ATA-TAAT J21 &1 S<di & 3ad 37
%A 30 9 U9 8 a¥ § | gRar & 3ilwa
37§

(A) 16 a¥ (B) 19 a¥

(C) 18 a¥ (D) 17 a¥
A. (C)
B. (A)
C. (D)
D. (B)

Ans. D

Sol.

Total age of parents = 30 x 2 = 60 years
Total age of two children = 8 x 2 = 16
years

Average age of family = (60 + 16)/4 =
76/4 =19 years

44. % 3w foraél # Reyd
gl
(A) 9RE (B) arferesT

(C) Si=ar (D) 3T
A. (C)
B. (D)
C. (A)
D. (B)

Ans. B

Sol.

* Statue of Liberty is located at New
York, USA.

* This statue was the gift from French to
American people and was designed

P
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by French sculptor Frederic Auguste
Bartholdi.

* The statue was dedicated on October
28, 1886.

* it has been maintained by the National
Park Service since 1933.

45.fefaw faeg geur & g3it v geiged
UEHle el g Al coheiien AT :
(A) TR (B) 919R

(C) sahrathere (D) foisR
A. (D)
B. (A)
C. (B)
D. (C)

Ans. C

Sol.

* SONAR is Sound Navigation
Ranging, is a technique developed to
track enemy submarines in World
War II.

* SONAR uses sound propagation to
navigation, communication and detection
of objects in oceans.

* Two types of technology share the
name "sonar": Passive sonar is
essentially listening for the sound made
by vessels; Active sonar is emitting
pulses of sounds and listening for
echoes.

46.T3TST UTET & FEATTSH i A?
(A) &, TSI

(B) ATl =ig®
(C) dITel dretad T

(D) HGIcAT aIeh
A. (D)
B. (A)
C. (B)
D. (C)

Ans. C

Sol.

* Motilal Nehru was among the
founding father of Swaraj Party.

¥Td NTPC 2019 Aih & 9w



http://www.gradeup.com/
https://xu75j.app.goo.gl/fgMV

www.gradeup.co

* It was founded in 1923 with
Chittranjan Das as its Secretary General
and it was dissolved in 1925.

* Swaraj Party was formed in India in
January 1923 after the Gaya annual
conference in December 1922 of the
National Congress.

47.T% ORI o 40 fheliame s/Eadr arad
F1 ¥arr 125 9A/fRar vg 60 fhatams araer
&1 8T JaT 150 FUd/fharm T e &
GlieT| 38 Fel Treh 20% W W a7
f&ar| e arae & ufa . s gou
AT FifST |

(A) 152 9 (B) 158 Tu

(C) 168 34X (D) 172 T4
A. (A)
B. (C)
C. (B)
D. (D)

Ans. B

Sol.

Cost price of 1 kg of basmati rice= Rs.
125

Cost price of 40 kg of basmati rice= Rs.
125 x 40 = Rs. 5000

Cost price of 60 kg of another bag = Rs.
60 x 150 = Rs. 9000

Total cost price of 100 kg = Rs. 5000 +
Rs. 9000 = Rs. 14000

Profit = 20%

Selling price of 100 kg of rice = 120 %
of CP = 14000 x 120/100 = Rs. 16800
Selling price per Kg = 16800/100 = Rs.
168

48.2Y HEITHT &I 3T 3 : 1§ T Sofehr
ATl 72 § | TEITIT & AL AR AT
ST |

(A) 24 (B) 36

(C) 32 (D) 28
A. (A)
B. (D)
C. (C)
D. (B)

Ans. D

e
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Sol.

Let the numbers be 3x and x
respectively

According to question,

3X+x=72

X =18

So the difference between numbers = 3x
-X=2x =36

49.973: JUITEIT § :
(A) T ITeafIhT Fufa

(B) Ush IR-3mepafIhy fEufa
(C) Sfraa el & wenrfad X arelr JaT

(D) UhIT & TFIF H 3 & HROT gled arell

T

A. (A)
B. (D)
C. (B)
D. (C)

Ans. A

Sol.

* Colour blindness is a genetic
disposition.

* Colour blindness is the decreased
ability to see colour or differences in
colour.

* It is most commonly inherited from
mutations on the X chromosome.

50.37aad foeor §
(A) ST a@r

(B) 31y y o
(C) Tif3s aer

(D) fega grehray addn
A. (A)
B. (B)
C. (D)
D. (C)

Ans. C
Sol.
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* Infrared are Electromagnetic
radiations, with long wavelengths than
visible light.

* Most of the thermal radiation emitted
by objects near room temperature is
infrared. These carry radiant energy and
behaves both like a wave and like its
quantum particle, the photon.

* Infrared radiation was discovered in
1800 by astronomer Sir William
Herschel.

51.1265 # & &l & & AT TET
gl S difeh aRomHr FEar 29 @ quid:
FaTST |]?

(A) 15 (B) 16

(C) 18 (D) 17
A. (C)
B. (B)
C. (D)
D. (A)

Ans. A

Sol.

We can write 1265 =43 x 29 + 18

So make the number divisible by 29 we
have to subtract 18

52. A & [USCAT T ATH TAST
fSegiet 2014 & #IRT & IET Y A
(A) oY To=Afdfer (B) g fteremai

(C) Tor3mmer SfF=T (D) foframer foier
A. (D)
B. (B)
C. (C)
D. (A)

Ans. D

Sol.

* Xi jinping visited India in
September, 2014,

* Chinese President Xi Jinping was the
first foreign dignitary to begin his India
visit form Gujrat.

* He arrived here for three days visit
with his wife Peng Liyyan.
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53.E Td F fAeeY Ush % 1 10 fealt & g
F Thd ¢| T E 3rher 39 ST F 30 et
#H QU A Fha &, ol F 38 &1H

& s 7 U F FFar 82
(A) 15 (B) 20

(C) 25 (D) 18
A. (D)
B. (C)
C. (B)
D. (A)

Ans. D

Sol.

Let the total work be LCM of 10 and 30
= 30 units

Efficiency of E4+F = 30/10 = 3 units /
day

Efficiency of E = 30/30 = 1 unit/day
Efficiency of F = 3-1 = 2 units / day
Time taken by F to complete the work =
30/2 = 15 days

54.168 R HT Tgell R HFoFeI AT
ST 82
(A) 3T (B) fas#-100

(C) TR 8000 (D) R T
A. (A)
B. (B)
C. (D)
D. (C)

Ans. D

Sol.

* Param 8000 was the first super
computer on India.

* Supercomputer PARAM 8000 made by
the Centre for Development of Advanced
Computing (C-DAC)) was launched on
July 1, 1991.

* Pratyush, Mihir and InC1-Lenovo are
three Indian supercomputers among top
500 supercomputers in world.

55.fage # F A0S TR+, ', -
L gar =" ¥ gfaeufia Fiise afe
THIROT (27 # 15 # 2) # 10 # 4 Gfrd
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& ST | oy e 91T SaAr H & FEr FT AT
FIfST :
(A) + + =-(B)-+ =+

(C)+-+=(D)+ =+ -
A. (C)
B. (D)
C. (A)
D. (B)

Ans. A

Sol.

After replacing the # sign,

(27 + 15-2) + 10 = 4 (BODMAS)
(42-2)+10=4

40 +10=4

4 =4

Hence, option A is correct.

56.12 fharm ==l T HoF 6 foharm TmaeT &
Ao & T ¢ | 10 fFam el va 8 foper
e HT Hel Hed 1040 F9Y g| U foham.
il T Hod AT ST
(A) 80 TW (B) 70 U

(C) 60 T (D) 40 FI
A. (C)
B. (A)
C. (D)
D. (B)

Ans. C

Sol.

Let the price of 1kg sugar and rice are X
kg and y kg. Respectively.

According to question, 12x = 6y

2X = Yiieeriinns 1

And 10x+8y = Rs.1,040..... .. 2

From equation 1 and 2, we have
X=Rs.40

57.5Tearg qRdce & v 9 IS

Vfage el &1 @ (COP 21)

2015 T TS # forar
T |

(A) Siotar (B) grard

(C) 9R& (D) a1

P
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A. (A)
B. (C)
C. (D)
D. (B)

Ans. B

Sol.

* The historic Conference of Parties
(COP 21) 2015 on climate

change took place from 30
November to 11 December 2015, in
Paris, France.

* The COP 21 had adopted the historic
Paris Agreement on Climate Change. It
was adopted by 189 countries.

* Controlling Green House Gas
emissions, deciding National Determined
Contributions from individual countries,
maintaining global temp below 2 degree
C etc are among the agreement.

58.87Xcl E@RT #dsX 2015 & Yaifid grear
39IE HT FAT ATH g2
(A) IRNSS-6 (B) GSAT-15

(C) GSAT-16 (D) GSAT-1E
A. (D)
B. (A)
C. (C)
D. (B)

Ans. D

Sol.

* The communication satellite
launched by India on 10 November
2015 was GSAT 15.

* It aim is to provide more bandwidth
for Direct-to-Home television and VSAT
services by augmenting the capacity of
transponders.

* The satellite carries 24 Ky band
transponders and a GAGAN navigational
payload operating in the L1 and L5
bands.

59.FFfaf@a & & =i wog @ deey A
g?
(A) 93T TeiEe (B) YT

(C) 31ar¥e (D) FEashr
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A. (C)
B. (D)
C. (B)
D. (A)

Ans. C

Sol.

Except rabbit, all the others are
antivirus.

Option C is correct.

60.Ush 3IT & odls T diss & 7ALT
3R 6 HIeX §| IS 3maa F1 IRATT 64 HieX
g, af ST &%l gHm?

(A) 256 gar1 #Hiex (B) 247 T Hiex

(C) 264 a1 #Hiex (D) 238 Tt AeX
A. (C)
B. (A)
C. (D)
D. (B)

Ans. D

Sol.

Let length and breadth of a rectangle are
| and b respectively

According to question, I-b =6

Given is ,perimeter = 64 meter
2l+b = 64

[+b = 32......... (.2)

From equation (1) & (2), we have
=19 & b=13

Area of rectangle = Ib

Area=19 x 13=247 sq.meter

61.99 x 99 = ?
(A) 9791 (B) 9801

(C) 9881 (D) 9901
A. (A)
B. (D)
C. (B)
D. (C)

Ans. C

Sol.

99 x 99=(100-1) x (100-1)= (100-1)2
= 10000 + 1 -200 = 9801

e
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62.9R-AR I & R W oA fow T
IR gTal T 3H FT AT 48 aY § | FE
BT T H 37 FT FURT HfFv |

(A) 4 3% (B) 5%

(C) 6a¥ (D) 7 a¥
A. (A)
B. (C)
C. (B)
D. (D)

Ans. B

Sol.

Let the age of youngest child is x yr.
According to question,
X+X+4+x+8+x+12=48

4x+24=48

X=6

So, age of youngest child is 6 yr.

63.

g o aroft 99 fawi & IR
faenfRiar & grcdie yefdia & § | & 13
AT T LAY HITAT TF 36 W TR
&t & 3T Ao

sfiferr | T | e | sToEe | s
N T 50 |49 51 65
e | 60 55 60 59 61
—rrar | 35 41 39 30 45
w=rr | 50 55 51 57 62

Gellel Td SHIEIT o el ICdiehl & HET T
3R 8?2
(A) 190 (B) 125

(C) 105 (D) 115
A. (D)
B. (A)
C. (B)
D. (C)

Ans. D

Sol.

Total scored marks by Sunil =295
Total scored marks by Jagdish=190
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Difference=295-190=105

64.3fgM g e e fahas
gTedich Faaes g7
(A) A (B) Fefter

(C) SWIENer (D) Trerer
A. (D)
B. (B)
C. (O
D. (A)

Ans. B

Sol.

marks of Shyam in History and
Geography=51+65=116

marks of Sunil in History and
Geography=59+61=120

marks of Jagdish in History and
Geography=30+45=75

marks of Rajesh in History and
Geography=57+62=119

So, Sunil has highest marks in History
and Geography.

65.7Fas 3itad e gaifee §7?
(A) 2T1H (B) galrer

(C) STIEA (D) TAA
A. (B)
B. (D)
C. (C)
D. (A)

Ans. A

Sol.

total marks of
Shyam=40+50+49+51+65=255
Average marks of Shyam =255/5=51
total marks of
Sunil=60+55+60+59+61=295
average marks of Sunil=295/5=59
Total marks of
Jagdish=354+414+39+304+45=190
Average marks of Jagdish=190/5=38
Total marks of
Rajesh=50+55+51+57+62=275
Average marks of Rajesh=275/5=55
So, Sunil has highest average marks

e
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66.Tsh faemdf o 6 fawal & FHof 470 37
e fht| g fawg & faw sifeds
3 100 2| gfderd 39 grcdies =1 4?
(A) 67.33% (B) 69.45%

(C) 78.33% (D) 78.67%
A. (A)
B. (B)
C. (D)
D. (C)

Ans. D

Sol.

maximum marks in 6 subjects =
100x6=600

total scored marks=470
percentage
score=470/600x100=78.33%

67.3¢ cot 52° = bartan 38° = ?

b
(A) B (B) 2

(C) -b (D) b
A. (B)
B. (D)
C. (C)
D. (A)

Ans. B

Sol.

Cot 52°=b
Cot(90°-38°=b
Tan 38°=b

68.Verification of log-in name and
password is for
(A) Authenticating the user

(B) Re-confirming the user
(C) Providing formal access to the user

(D) Completing the formality of login-in
A. (C)
B. (A)
C. (D)
D. (B)

Ans. B
Sol.
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* Verification of log-in name and
password is for the authentication of
the user.

* In security systems, authentication is
distinct from authorization , which is the
process of giving individuals access to
system objects based on their identity.

* It is done to provide access to the
administration of system, it may be
electronic or digital (biometric etc.)

69.Which one of the following is not
alkaline?
(A) Sodium (B) Potassium

(C) Lithium (D) Sulphur
A. (D)
B. (A)
C. (B)
D. (C)

Ans. A

Sol.

* Sodium, Potassium and Lithium
are alkaline elements while sulphur
isn’t.

* Alkaline is a basic salt or ionic salt of
alkaline earth elements. They are
basically base dissolved in water. And
have ph greater than 7.

* Alkaline solutions are slippery or soapy
to the touch and Alkalis are normally
water-soluble.

70.Headquarters of NASA is at
(A) New York (B) Washington

(C) Boston (D) Texas
A. (A)
B. (D)
C. (O
D. (B)

Ans. D

Sol.

* The Headquarters of NASA is
situated at Washington DC, USA.

* NASA was established in 1958,
succeeding the National Advisory
Committee for Aeronautics (NACA).

* The major mission launched by NASA
are- Project Mercury, Project Gemini,
Project Apollo etc.
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71.T% g&J H 35% H HT W 26,000 T
& o= I | Afe g 15% & dr a&g
fasra Hew wra ST |

(A) 36,000 9 (B) 40,000 9

(C) 38,000 T9 (D) 34,000 F93
A. (A)
B. (D)
C. (C)
D. (B)

Ans. B
Sol.
According to the question,
Selling price at 35% discount = (100 -
35 )% of MRP
New selling price at 15% discount =
(100 - 15)% of MRP
On dividing both
26000 65

New selling price 85
New selling price = Rs. 34000

72.&9EeR T gl
(A) gTSaW

(B) OFed:R
(C) & a gT8aIX o & eI

(D) &8
A. (D)
B. (C)
C. (B)
D. (A)

Ans. C

Sol.

* A Compiler is basically a software
which hat translates computer code
written in one programming language
into another language.

* It is of different types- Cross compiler,
Bootstrap Compiler, Source to Source
Compiler etc.

* A compiler may many or all of the
following operations: pre processing,
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lexical analysis, parsing, semantic
analysis etc.

73.Tsq1E deX AT deisd & Ay
Aaw A gatl 3uarg saAde-3 ar
Fr # e forar I |
(A) 2012 (B) 2013

(C) 2014 (D) 2015
A. (B)
B. (C)
C. (A)
D. (D)

Ans. A

Sol.

* INSAT-3D the meteorological
Satellite with advanced weather
monitoring payloads was launched on 26
July, 2013.

* It was launched from French Guiana
using Araine 5 ECA launch vehicle.

* The satellite has 4 payloads: 6 channel
multi-spectral Imager, 19 channel
sounder, Data Relay Transponder (DRT)
and Satellite Aided Search and Rescue
(SAS&R).

74 .UM &1 qUT §9 AT 82
(A) ereTer fS3ianfe farfaser

(B) A AT grEAE
(C) AAe=Tel AT gFe

(D) AT et feegetor
A. (D)
B. (A)
C. (C)
D. (B)

Ans. A

Sol.

* NGT stands for National Green
Tribunal. The National Green Tribunal
has been established on 18.10.2010
under the National Green Tribunal Act
2010.

* Objective- for effective and
expeditious disposal of cases relating to
environmental protection and

P

gradeup

conservation of forests and other natural
resources.

* The Tribunal's dedicated jurisdiction in
environmental matters shall provide
speedy environmental justice and help
reduce the burden of litigation in the
higher courts.

75.9R%d 92T & 8] &I &

ST HTIT Y Al HT ¢ |
(A) 2.8% (B) 2.4%

(C) 2.0% (D) 3.2%
A. (B)
B. (A)
C. (C)
D. (D)

Ans. A

Sol.

* The total area of India is 3.28
million square km. India also
accounts for 2.4% of the area on the
globe.

* IT has a land boundary of 15,200
km and the coastal boundary that
includes the islands is 7,516 km.

* It lies completely in the Northern
hemisphere and Eastern hemisphere
between latitudes 84’ N and

37°6°N and longitudes 68°7’ E and
97°25" E.

76.28 &I #T 3T 35 & Ud g Ae
AT T 2 ¥ FeT AT ATam §| T3 &
AT FHIT 1 AT AT RIS |

(A) 28 (B) 34

(C) 40 (D) 37
A. (B)
B. (C)
C. (D)
D. (A)

Ans. C

Sol.

Mean of 10 numbers= 35

Sum of 10 numbers = 35 x 10 = 350
Each number is increased by 2

New sum = 350 + 10 x 2 = 370
New average = 370/10 = 37

Short Trick:
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If all the numbers in a sum is increased
by the same value then their average is
also increased by same value

Therefore, new average = 35 + 2 = 37

773fca+2b=55tda-2b=-

13 ' b & AT Ad HIfAT |
(A) 21 (B) 14

(C) 17 (D) 19
A. (D)
B. (C)
C. (B)
D. (A)

Ans. B

Sol.

a+2b=55

a-2b=-13

subtracting both the equation
4b = 68

b=17

78. AR # @ Fia & A R @
qefea gr 8?2
(A) T gReH

(B) sIfsIARTAY
(C) Buhifar

(D) ARAFISTT T=R
A. (D)
B. (A)
C. (C)
D. (B)

Ans. C

Sol.

* Aneurysm, Cardimyopathy and
Myocardial rupture are heart
diseases while Diphtheria is not.
* Diphtheria is a serious bacterial
infection usually affecting the mucous
membranes of your nose and throat.
* Diphtheria is included in vaccination
programme in country for its early
prevention.
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79.fFFfafed & & @l faegd & gares
T &7
(A) el e & adet

(B) TegiAfaaH
(C) dereest

(D) et
A. (D)
B. (A)
C. (B)
D. (B)

Ans. B

Sol.

* Aluminium, Tungsten and Nickel
are good electricity conductors
while Porcelain is not.

* Porcelain is a ceramic material, it is
tough, translucent and an electricity
insulator.

* Properties associated with porcelain
include low permeability and elasticity;
considerable strength, hardness,
toughness etc.

80.2012 & MNfruss Wall # Fafds Taol
e fohge Sa?
(A) T (B) I et

(C) 3R (D) &
A. (A)
B. (D)
C. (C)
D. (B)

Ans. C

Sol.

* The 2012 Summer Olympics were
held in London, United Kingdom,
from 25 July 2012 to 12 August
2012.

* Athletes from the United States won
the most gold medals, with 46, and the
most overall, with 103.

* Michael Phelps and Missy

Franklin each won four gold medals
which were maximum gold medal won
by an individual.
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81.71faFe foe & =afFd & IR W &1
JHTT g39m?

(A) ¢ ST

(B) gTc ST

(C) #R =Agr dgelem

(D) 9 IT 91 Hohal &

A. (A)

B. (D)

C. (B)

D. (C)

Ans. D

Sol.

* The mass of a person is constant
and does not depend upon the
movement of lift.

* But apparent weight of a person can
increase or decrease depends upon the
acceleration or deacceleration of lift.

* The apparent weight of man can be
easily calculated based on newton’s laws
of motion.

82.410T, Higal &I QAT & ST HeT HT TeheATT
SIATG §| Hem &1 had TH Tdid

g | forvor, e fr anfaa §) fRvor, dom @
fre geR Gafed g?

(A) 76 (B) T
(©) T (D) ATar
A. (C)
B. (B)
C. (D)
D. (A)
Ans. D
Sol.
Meena
7<M0han+
Veena~ Kiran~

Kiran is the sister of veena.
Option D is correct.
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83.31 HEAT3T &7 A. H. 6 § UG 3odaT o.
H. 108 g| Ifg 3577 @ v EAT 12§, ar
gall wEA &

(A) 27 (B) 54

(C) 48 (D) 36
A. (D)
B. (B)
C. (A)
D. (C)

Ans. B

Sol.

HCF of two numbers is 6 and their LCM
is 108

Let the second number be N

We know that,

HCF x LCM = product of two numbers
6x108 =12x N

N = 54

84. U= T AU e A TR&T I
3W AT :

FUF : THh NY AT W@omdr o 39 e H
Fo gl & ag JfSAT & FTHA FaT, 59

RE T H AT FINIT I FATCT Ag! AT
argar| # 3mem Far § R 9F G o &
forw a3y qERr At e | # wdw #

FHT AfHAT 6T Hear|”

T a0 #YeT & AR foefafea & @

PlT-a1 T §7?

(A) @ 39 ¢¥Fe & IROTAT H Al & T
g

(B) 39 faeary a1 & ag T@E & TUT oA
SR I

(C) 38 3T e¥e H Ultaifed glell TR
ThaT|

(D) Wel o 38 A PR |
A. (A)
B. (C)
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C. (B)
D. (D)

Ans. B

Sol.

From the given statement it can be
infer he had admitted to testing positive
in dope test as he is asking for another
chance as he don’t want to end his
career this way.

85.25 ATAT T ATET 40 AT fched TH
ATl 50 1 Sretg W 25 forar I/ m ouT| ey

LT §
(A) 39 (B) 41

(C) 40 (D) 42
A. (D)
B. (B)
C. (C)
D. (A)

Ans. B

Sol.

Mean of 25 values = 40

Sum of 25 values = 40 x 25 = 1000
One value was written 25 instead of 50
Correct sum = 1000 - 25 + 50 =1025
New average = 1025/25 = 41

SHORT TRICK :

Difference between values = 50 - 25
New average = 40 + 25/25 =41

86.a% H IRd W 9c¥eT &9

o fofeer IR F1 FFFoT 8 I |

(A) 1857 (B) 1858

(C) 1859 (D) 1856

A. (B)

B. (C)

C. (A)

D. (D)

Ans. A

Sol.

* India came directly under the rule
of the British Crown in the year in
1858.

* This system of governance under
british crown was instituted on 28 June
1858, after the Indian Rebellion of 1857.
* It lasted until 1947, when it was
partitioned into two sovereign dominion
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states: the Dominion of India and the
Dominion of Pakistan.

87.2a%T UfohdT H AT Scafold adl § :
(A) 3t s fAsor

(B) &ed HAFASS

(C) 3itaeiiateT

(D) FIeT SBHTFAES

A. (B)

B. (C)

C. (D)

D. (A)

Ans. C

Sol.

* Human Respiration released
Carbon Dioxide and inhales oxygen.
* Respiration can be of two types-
Aerobic and Anaerobic, Aerobic
respiration need oxygen and anaerobic
respiration doesn’t need oxygen.

* The human respiratory system consists
mainly of a pair of lungs, trachea,
bronchi, and alveoli. Air enters the body
through the nostrils.

88.377¢ ‘code’ = 6241, ‘made’ = 5346,

‘come’ = 3124’ 9T ‘to’ = 27 a ‘dome’ =
5

(A) 6134 (B) 5214

(C) 6124 (D) 2634

A. (B)

B. (D)

C. (A)

D. (C)

Ans. B

Sol.

d e m a d e c o m e t o

1 2 6 a 3 5 6 a 1 2 3 4 7 2

Similarly,

d o m e

6 2 3 4

Hence, option D is correct.

89.fhdY ey & TIY H IHAIT FAUA FI
Tl HITAT|

(A) TeH F3Y ST HIH 3 HIT & TFAG
g gl

¥Td NTPC 2019 Aih & 9w



http://www.gradeup.com/
https://xu75j.app.goo.gl/fgMV

www.gradeup.co

(B) fondlt TregsT ot afgsepior = weeg@ & ar
kicica oo
(C) TordiT ar egam3it & AT el 8o & T

B & |

(D) Th $[oTT T 9T = 3= al M3t & Fait
HI AreT

A. (D)

B. (C)

C. (A)

D. (B)

Ans. A

Sol.

In a triangle,

The longest side is opposite to the
greatest angle.

The exterior angle of a triangle = the
sum of interior opposite angles.

The sum of any two sides is greater than
the 3rd side.

All of these are the basic properties of a
triangle.

But in option D

The square of one side = the sum of the
squares of other two sides

The above statement is only true for
right angled triangle.

Hence the answer is option D

90.Fl T AdT 3T TR H AT Ferdr £2
(A) ##er (B) aredr

(C) 9RIR (D) Hgler

A. (D)

B. (B)

C. (O

D. (A)

Ans. A

Sol.

* Narmada, Tapti and Periyar rivers
flows from east to west direction and
drain into Arabian Sea whereas
Mahanadi flows from west to east
direction and drain into Bay of Bengal.
* Mahanadi is 858 kilometres long and
Hirakund dam is located on it.

* The Mahanadi river flows through the
states of Chhattisgarh and Odisha.

91.%Ye 3R 37 Fo sy A fGw 1w
g |

P

gradeup

FYA : TG W FeH Wl & dIG Alel
THESTIT o gl “Teh HGH & T “ag T
BNl eH § W Ald o & faw 78

fJemer oamer 87| ("One small step for a
man, a giant leap for mankind."”)

sy

I. frer 3T F gg A AT S
T |

I1. el 3MHEECTT & Qeal ¥ dhael AT A
& 39afeRs I Haar el ¢ |

vy AifSe & Fia ar @) Fsey e e
HUAT T e T F TTEOT T ()
g ® :

(A) ael fshy I 3TEROT e &

(B) Faer farshy 11 31eTeROT &Yl §

(C) I 3R 11 gt 3re7eRoT ey &

(D) & @ I 5 & II 3eTeR0T &l &

A. (C)

B. (D)

C. (A)

D. (B)

Ans. D

Sol.

Neither of the conclusion can be
concluded from the given statement.

92.99RYH fgwq faeafaurers &

HaRT 2016 H AU TUGAT & 100 a¥ R
fhT | ST FATTT & CanT &
TS o |

(A) TASRY el Fer

(B) #HGeT AIgA AT

(C) STIYHIA ARTIOT

(D) HaUeell LML

A. (B)

B. (C)

C. (D)

D. (A)

Ans. A

Sol.

* Banaras Hindu University which
completed 100 years in February
2016 was founded by Madan mohan
malviya.

* It was established in 1916.
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* Its main objective was to build a youth
dedicated to Swadeshi ideas and have
knowledge of western education also.

93.%Ye 3R o1 Fo fashy & fqw arv €

FUT : AT TT [qdF rI-T1YT ToAd

& | [SaeT AT AT BRI 3AAT & FFA
310 faaeeler g1em | AT, SIPTERhdr

g | Ifeerar @ Auea & fow fagsw &
3TETHT ¢ |

T 7T FE F egER Fefafed F ¥
PlT-AT T §7?

(A) 3T TF faas FaAEmdt § |

(B) 1eT Uq fdaer quie: 37emer § |

(C) 71T Td fadeh Teh-g@Y & QX ¢ |
(D) fTad® AT FI TAT o TohdT ¢ |

A. (C)

B. (A)

C. (B)

D. (D)

Ans. A

Sol.

According to the above statements, the
conclusion C i.e. Knowledge and wisdom

are complementary to each other is true.

Hence, Option C is correct.

94. %Y 3R 3o Fo sy A fGw e g

FUA
YA FA-fAE & UR WIS FH
IS FRATIT H WU Y fAe § |
SRy

I. TN o 3TOT UeT AeT fohar |

I1. Jroter & & AT IR TAtssieteh 8T ¢ |
v AT F Fa a1 @) @Fsey e v
HYAT T Alfheh T T AT AT ()
g @ :

(A) Faer fsehy I TeoT Tl §

(B) el forseht 11 31TET0T Xl §

(C) I 3R II ¥l 3efER0T & &

(D) o & I 8 II 378’01 T &

A. (A)

B. (C)
C. (B)

P

gradeup

D. (D)

Ans. B

Sol.

Rajesh got the poor rating because he
did not perform well.

Poor rating implies that Rajesh’s work is
not upto the mark

Hence, option B is correct answer.

95.7a2d #9 fohche H TRMAR IR AdS 9T
arerr faeg &1 ygell fohdhex HieT a1?

(A) TAR "R (B) waifsfaforerd

(C) IH ToR (D) e 37T

A. (B)

B. (D)

C. (A)

D. (C)

Ans. C

Sol.

* Kumar Sangarkara became the first
cricketer to score four consecutive one
day International centuries.

* He sets the new record in world cup
match against Scotland.

* There are six players who have scored
three ODI centuries in a row.

96.31f¢ ‘god is great’ = ‘cp an bo’, ‘great
help done’ = ‘er cp fs’ dAUT ‘he is great’ =
‘bo cp dq’, af ‘he is god’ FI FH TSR
AEa fHar a1 ghar 82

(A) c per bo (B) an bo cp
(C) dg bo cp (D) an bod q

A. (B)

B. (A)

C. (C)

D. (D)

Ans. D

Sol.
words code
god an
is bo
great cp
help er/fs
done er/fs
he dq

He is god - dqg bo an.
Hence, option D is correct.
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97 . Hicdell : G :: TR :

(A) FARTBIA (B) TaEafaar

(C) disr (D) STetel

A. (O

B. (B)

C. (D)

D. (A)

Ans. A

Sol.

Consolation provides relief from grief.
Similarly, sedative provides relief from
pain.

Option (c) is correct.

98.9JATT H HRA THR

canrt gUayy Al (2012-
17) & RiTead= fHar a7 T &

(A) 104 (B) 11dF

(C) 124t (D) 134

A. (A)

B. (C)

C. (D)

D. (B)

Ans. B

Sol.

* The 12t Five years Plan of the
Government of India covered the
period 2012-17.

* It is the final five year plan since
Planning Commission is replaced now by
NITI Ayog.

* First five year plan was constituted for
1951-56 for target growth rate of GDP of
2.1 %.

* To reduce poverty, To improve
regional equality, to improve ST,SC
conditions etc are included in objectives
of 12t five year plan,

99.3f¢ ‘health is

wealth’ T '1372’, T2 ‘health needs
care’ @I 417 for@r Srar § , ‘he needs
wealth’ # 463 for@r e :

e
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(A) 326 (B) 764

(C) 624 (D) 246

A. (D)

B. (B)

C. (A)

D. (C)

Ans. C

Sol.
words code
health 7
is 2
wealth 6
needs 4
care 1
he 3

He is wealth - 326
Hence, option C is correct.

100.3f¢ ARC & $ @ * for@r Sirar g
Jar HIT & # & % for@r Jrar &

ar CHAIR & for@r e :
(A #*&$@(B)#*$8&%

(C)*#$8&@ (D) *#$ &%
A. (D)
B. (B)
C. (C)
D. (A)

Ans. C
Sol.

A R C

$ @ *
SIMILARLY,
T H T i T
* # $ & @

Hence, option C is correct.

¥Td NTPC 2019 Aih & 9w



http://www.gradeup.com/
https://xu75j.app.goo.gl/fgMV

I7d NTPC 2019
Hich ¢ Ui

1. Tdi9dH T&T Ued U3 3meTRd
2. fe<t qar sfiaer & 3uaTs

3. 3TeT §f3aT ¥ 3R el fagyur
4. GHTYTT b1 faxga faaror

5. 99 3R MIET8 UR 3T

¢

S
gradeup


http://www.gradeup.com/
https://xu75j.app.goo.gl/fgMV
https://xu75j.app.goo.gl/fgMV

